1602202/1601102/P1601102

2018 (Even)

Time : 3 Hrs. Sem. I/I1
Basic Chem
Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question

carries 1 mark.

T9-A ¥ Tt w9 % W <, yF W H AE 1 3w € |

Answer all five questions from Group B, each question
carries 4 marks.

Ju-B | Uie YAl % ST <, Gk Y 1 A 4 Ik T |

Answer all five questions from Group C, each question
carries 6 marks.

q9-C ¥ uier el & ST §, Wk 99 okl U 6 3k B |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
T U9 & Gl 3790 1 S| T & e (TR 8 §) B
=fey, T=ren 8 & Sif= S EWehd © |

The figures in right hand margin indicate marks.
T¢ wisd % ek YU o G ¢ |
PTO
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1.

GROUPA

Choose the most suitable answer from the following

options :

waifys 3ugdad faswew &1 g fafew

(1)

(1)

(i)

(i)

The Unit of Conductivity is
(@) Ohm. Cm

(b) S.Cm

(c) Ohm'l.Cm!

(d) None of these
IreTehdl ® THEE F B

(31) =\ |t
(9) S. ==
(9) ufa o\ ufq =t
(3) T ¥ = T

The total number of orbitals in a shell with
principal quantum number n is

(@ »?
()  2x°
() 2n
(d)  n+1

qEd F9TeH 9@ N B ®a HeH Hhi GG
fa @ 22

(1) p?
(F) 242

(iif)
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() 21
() n+1
Which of the following is present in dry ice ?
(a) Ionic bond
(b) Coualent bond
(c) H-bond
(d) None

(i) Y=F a% H e

(iv)

(iv)

(31) smafaes 9y
(F) ¥e gares a9
(9) wEgH w7y
(%) =g &l

Which is responsible for stability of Ionic
compound?

(a) Lattice energy
(b) Hydration energy
(c) Ionisation energy
(d) None of these
safTes difieh | Tonfac &1 F wRO @2
(31) ST 3
(F) v Fro= I
(9) et 3=
(3) T ¥ #E el
PTO
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(v)

v)

(vi)

Which of the following reduces Fe,O, in blast
furnace?

(a C
(b) Co
(¢) Co,
(d H,

wfie oTaEE H oA WA W STIEEA
fras g fEar s @2

(1) C
(a) Co
(") Co,
(7)) H,

In electro refining which of the following is
made of impure metal

(a) Cathode
(b) Anode
(c) Both

(d) None

(vi) foga wiem o e g WA B @2

(1) Hore
(9) e
(|) Tl
(%) 3 &l

(Vi)

(vii)

(vii)

(vii)

5 1602202/1601102/P1601102
In Bohr's model what is the energy of electron
at infinity from nucleus?

(a) Positive

(b) Negative

(c) Both

(d) None of these

IR Hed # AMvE ¥ oH= g0 W frem
TEEE H S widl ®?

(31) gATTHS

(9) RUMcHS

(@) =t

(%) 39 *IE e

Which of the following is thermoplastic
polymer?

(a) Nylon 6,6

(b) Buna-s
(c) Polystyrene
(d) None

frefafed sge o & q9 geed @7
(31) A 6,6
(=) o-1-S
(9) wrefl wrdd
(7) g &
PTO
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(ix)

(ix)

(x)

(x)

How much faraday is required to liberate 5600
C.C oxygen gas at NTP for electrolysis of dilute

H,SO,
(a) 0.5F
(b) 1F

(c) 15F
(d) 96500 F

91 H,S0,% fag@@ s9&ed g0 NTP W
5600 C.C efSH 19 a1 # fohaT w2
H TE 'Y

(31) 05F

() 1F

(9) 15F

(T) 96500 F

Which of the following polymer is the example
of condensation polymer ?

(a) PU.C
(b) Buna-S
(c) Buna-N

(d) Bakelite

I%'\"I*-"lr('lr@ld agcih W HiA G GO §gas
?

(37) di.eftH.

(F) 9T-S

(d) 9T@-N

(7) dwarEe

(x1)

(xii)

(xii)

7 1602202/1601102/P1601102
In Daniel cell when Zn and Cu electrodes are

connected the electron flows from.

(a) Zn to cu outside the cell

(b) Cu to zn outside the cell

(c) Both

(d) None

e 9 ¥ W9 Zn 3R Cu #1 TowRE
SEt STt ® oA solger wedl 2
(31) Zn ¥ Cu ¥ & R

() Cu¥ Zn &@ & 9T

(") =

(2) =g T

Oxidation state of Fe in haemoglobin is
(a) +1

(b)y +2

(c) +3

(d o0

BHIAI H Fe 1 SToflh{ol STaen ®72
(31) +1

(7)) +2

(") +3

(2 0

PTO
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(xiit) What is the oxidation state of cobalt in vitamin (xv) The number of radial nodes for 3d orbital is
B12 (a) Zero
(a) +I1 (b) 1
(b)y +2 (c) 2
(c) 13 d 3
d o0 (xv) 3d ®&e1& ° foaw wHm A giM?
(xiii) foedflq B12 & wiamee fHq secen § &l (1) A
27 () 1
(1) +1 (|) 2
(") +2 (7) 3
(F) +3 (xvi) Which of the following nitrates form metal
() 0 residue on strong heating?
(xiv) In a salt bridge kcl is used because (a) AgNo,
(a) It is an electrolyte (b) Pb(Nos),
(b) It is non electrolyte (¢) NaNo,
(c) The ionic mobility of k™ and cl- is (d) None
opproximately same xvi) i1 & @ @M @ TEeE AW T % W
(d) None gIq ST FAI 22
(xiv) kel @01 ¥q # wET Ear € Hifw (37) AgNo;
(%) 7 T e d (@) Pb(Noy),
(9) 7& TH faga o@ orweea @ (@) NaNoj
(F) kTR clteol w1 ATeiehed SR (7) HE &
TAM B @

(xvii) Which of the following element does not form
(2) *rE nitride
PTO
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(a)
(b)
(©)
(d)
(xvii) 17
(1)
()
(F)
(Q)

Ag
Al

Mg
Ca
9 ded ATEIIES WEl ddl 22
Ag
Al
Mg
Ca

(xviii)) Which of the following is called Argentite?

(a)
(b)
(c)
(d)

Ag,S
Agcl
AgNos
Ag,0

i)™= & @ HIH W iR Hedd @?

(1)
()
()
()

Ag,S
Agcl
AgNos
Ag,0

(xix) When lead storage battery is charged which of
the following is correct ?

(a)
(b)
(c)
(d)

Pbo, dissoloes.
Pbso, deposited at electrode
H,S0, is formed

None

11 1602202/1601102/P1601102
(xix) I HEEH 90 H FAERE HE W F B
g
(31) Pbo, ¥ S @
(9) TAFRIE W Pbo, 1 Td W Wt 7
(¥) H,So, @ 2
() ™ 9 FE T
(xx) Which of the following metal Causes weeping
(a) Fe
(b) Sn
(¢) Ni
(d) None of these
(xx) HIFT T o BT Ieq w82
(31) Fe
(9) Sn
(9) Ni
(2) =g T

GROUP B

Answer all Five Questions. 5x4=20

gt o YeE % S ifsw |

2. Explain Bio chemical oxygen demand. 4

SR qOEE offafsH fedie ® =mE Wi

PTO
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Or (37214T)

Write cell reaction of the given cell
Fe‘Fe++ Mno{‘Mn++ 4

few T w9 w1 d@ aAfafee foe
Fe‘Fe++ Mno{‘Mn++

Explain Pauli's exclusion principle. 4
ot & evesa fagia w1 saEm Wl

Or (37214T)
Write Monomer of the following polymer 4
(i) Nylon 6,6 (i1) Teflon
(i) Buna-S (iv) Neoprene

frafafea agas &1 TEas fae
() EAH 6,6 (i) THeH
(i) S-S (iv) fr=ardm=

What do you mean by air pollution? Discuss the four
factors Causing pollution of air. 4

99 I W Y F A €7 A1 K g
FEH I IR HRE HT GO HI

Or (372714T)

Find the weight of chromium diposited from Cr, |So4 | X
solution by a current of 0.50 ampere flowing for one
hour [Cr=52] 4

13 1602202/1601102/P1601102
Cr,|So,|, =& ® 0.50 AR 1 fog@ om0 Th
T % Weled ®wE d W [Cr=52] ® 9N
fremret |
What is the difference between thermosetting and

thermoplastic polymers? 4

A9 gg Wgoh SR 99 g Wgdd H IR
T |
Or (372714T)

Why Carbonate and Sulphide Ores are usually converted

into oxides during the process of extraction? 4

fewtur # gfear | FEHe 3R ewEe oI
I YI: ST AleErse W uRafda s e S
22

What are the essential condition in the formation of

ionic bond? 4
st emay fmin % fau sgea wd @@ 22
Or (372714T)
Name four regions of atmosphere. 4
IATSA ® AR & w1 AW e
PTO
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GROUP C

Answer all Five Questions.

Tft o W % SW e |

7.

What would have happend if the green houses gases
were totelly missing in the earth atmosphere? Discuss.6
S g-aggued ® WA eRsg 19 W § a9

o

Fn & wmar? faa= s

Or (372714T)

Write down cell reaction of discharging and recharging
of lead storage battery. How does density of electrolute
change when battery is discharged ? 6

T TOUE Ud H HE wW 99F TH [A: STEvH
w1 T efafEw o @ Sed FwE wwa oA
fogm eeed w1 W@ fRE yER ywfad w87

Write down the name and formula of importent ores
of Aluminium. Describe a method for extraction of
Aluminium from its ore. 6
JAfEn & THE IR ® AW R g fore
% SO W fafaftEm & fA=evw =i fafy @
Ui T

Or (31214T7)

How many hours are required for a current of two
ampere to decompose electrocally two moles of water?

10.

15 1602202/1601102/P1601102

Y e form 9 ¥ A wa % fagda
oo o fea =02 =1 Sa 'F? 6

Explain the following (a) Molar conductivity

(b) Equivalent conductivity (¢) conductivity.
What is the effect of dilution of molar conductivity,
equivalent conductivity and conductivity? 6

frafafea =1 =/ w1 () AR S
(9) qedih! =Merehal (H) =Terehdl

HieR =Tethdl, qedih! =eiehdl 3R =efhal T qdl
H T YE TEal €2

Or (31214T1)

Ionisation energy of H-atom is 13.6 ev. Calculate

ot

ionisation energy of He'ion, Li** ion and Be*** ions?

H-TH0] &1 Ef® S &1 99 13.6 ev €1 He'
A, A Lith 3R Bettt A & U IS
w1 7 e ? 6

A large number of fish are suddenly found floating dead
on a lake. there is no evidence of toxic dumping but you
find an abundance of photo plankton, suggest a reason
for the fish kill. 6
TH Wd B IEME oEEd gd wefadl o &g
facftl sod =+ fowed =il @1 en wf agdEd
T URY YRUCEd T MU wSferE % A % SR
ERIE

PTO
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Or (31214T1)

Give the reason (a) Ice is lighter than water
(b) Water has maximum density at 4°C.
(c) Nitrogen exists as N, but P exists as P, 6

FNO fael (a) 9% I @ eow Bl ©

(b) T w1 S 4°C W HedH el
(c) TEISHA N, &9 H WAl T ofehd HRAHRE
P, % ®1 H W 2

11. Write short notes on any two of the following 6
(1)  Depletion of Ozone layer (ii) Electroplating

(i) Bakelite
frafafea o fedt @ W feuoht fow|
() oM WA H 8% (i) faga <
(i) T e
Or (31214T1)

Write short notes on any two of the following 8

(1)  Environmental pollution (ii) GH effect
(i) Eutrofication

frafafea 5 fedt &1 | feoft o]
(i) R ygww (ii) G.H 99@
(i) g

skokock



